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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then

mark the correct choice on your answer sheet.

1-  The rising death toll is ---------- largely to the growing number of elderly people, who are
especially vulnerable to the flu.
1) attributed 2) converted 3) debilitated 4) transferred

2-  The couple were finally ---------- by the landlord after not paying their rent for six
months.
1) extended 2) elicited 3) evicted 4) evacuated

3- Wehave a ---emnmea- clientele in our language program, with students from Asia, Europe
and South America.
1) complex 2) diverse 3) symmetrical 4) haphazard

4-  But the possibility of these adversaries acting like friends, despite their long-standing
---------- and mutual dislike, is on the horizon.

1) rivalry 2) advocacy 3) inclination 4) justification

5-  Debating that aliens exist cannot be deemed an ---------- truth as we have yet to see proof
of their existence.
1) unintelligible 2) insensitive 3) unforeseeable 4) incontrovertible

6-  The girls wanted to set the table, but they were more of a ---------- than a help.
1) compliment 2) hindrance 3) thrill 4) pretension

7-  The government is to consult the attorney general on whether the enacting of such a law
would be in ---------- of the constitution.
1) provenance 2) rationalization 3) breach 4) caprice

8- Someone once joked that man blames most accidents on ---------- , but feels a more
personal responsibility when he makes a hole-in-one on the golf course.
1) legality 2) verdict 3) charge 4) fate

9-  The trial collapsed when it became clear that the main witness for the prosecution was
not ---------- 2
1) credible 2) singular 3) subjective 4) conjectural

10- The rising number of minority inmates in prison only goes to ---------- the stereotype that
members of minority groups are bad people.
1) overlook 2) downplay 3) belie 4) perpetuate
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PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

space. Then mark the correct choice on your answer sheet.

Fuel cell electric vehicles emit only water vapor and warm air, (11) ---------- no
tailpipe emissions. Similar to electricity, hydrogen is an energy carrier that can be
produced from various feedstocks. These feedstocks and production methods should
be considered when (12) -—-------- .

Argonne National Laboratory’s (ANL) report, Fuel Choices for Fuel Cell
Vehicles: Well-to-Wheels Energy and Emission Impacts, analyzed greenhouse gas
(GHG) (13) ---------- 10 of the most common hydrogen production and distribution
pathways. ANL found that gaseous hydrogen produces (14) ---------- GHGs than liquid
hydrogen in most cases. ANL also investigated hydrogen’s effects on petroleum use
and found that using hydrogen as a fuel (15) ---------- petroleum use by nearly %100
regardless of fuel production pathway.

11- 1) produce 2) that produces 3) to produce 4) producing
12- 1) to evaluate hydrogen emissions 2) evaluating hydrogen emissions

3) for hydrogen emissions to evaluate 4) hydrogen emissions evaluated
13- 1) emussions for 2) 1t 1s emitted as 3) 1s emitted for 4) to be emitted
14- 1) less of 2) as little 3) fewer 4) fewer of
15- 1) reduction 2) reduced 3) that reduces 4) to reduce

PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

R. A. Fischer was born in London and educated at Cambridge. He studied physics and
biology, but plagued by terrible eyesight, he decided that mathematics was the way he
could serve the biological sciences best. He was such a brilliant mathematician that he
generally just read a problem and produced the right answer, much to the displeasure
of his teachers. After graduating, he worked for several years as a school teacher, a job
he disliked but paid for his daily needs. While teaching, he published a paper that
unified the ideas of Charles Darwin and Gregor Mendel, showing how genetic
variation in populations produced the basis for natural selection.

He began working at the Rothamsted Experiment Station in 1920, performing
statistical analysis of agricultural experiments. This is where and when his
contributions as a statistician took off. He developed the basics of experimental
design, famously saying that “To consult the statistician afier an experiment is finished
is often merely to ask him to conduct a post mortem examination. He can perhaps say
what the experiment died of.”
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He developed many of the concepts still used in today’s statistical analyses. He
invented analysis of variance, the tool that lets multiple factors be tested in a single
experiment. He also set the standard probability of error at 0.05, still considered the
level of certainty needed to accept the results of an experiment. He wrote several
textbooks that became the foundation of modern statistical theory and practice.
Because of his understanding of the variations in populations, he is acknowledged as
one of the pioneers of population genetics.

Which of the following statements is true about Fischer?

1) He had no interest in biology.

2) He was educated at the University of London.

3) He was born in Cambridge.

4) His brightness in mathematics tended to displease his teachers.

The word ““plagued” in paragraph 1 is similar in meaning to ---------- d

1) recovered 2) troubled 3) oriented 4) isolated

Which of the following statements is true about Fischer?

1) He showed how genetic variation in populations produced the basis for natural
selection.

2) He liked his job as a school teacher.

3) He met Charles Darwin at the Rothamsted Experiment Station.

4) In 1920 he performed statistical analysis of genetic experiments.

What can be concluded from Fischer’s famous quotation in paragraph 2?

1) We always have to consult a statistician before we conduct an experiment.

2) We must always consult a statistician after we conduct an experiment.

3) There is no need to consult a statistician while doing an experimental research.

4) The best a statistician can offer is to conduct a post mortem examination.

All of the following statements are true about Fischer EXCEPT that he ---------- ?

1) invented a tool that lets multiple factors be tested in a single experiment

2) set the standard probability of error at 0.05

3) thought mathematics was the best way through which he could serve physics

4) is acknowledged as one of the pioneers of population genetics

PASSAGE 2:

The first use of ANCOVA is the most common. In an experimental setting, ANCOVA
increases the power of an F test for a main effect or interaction by removing
predictable variance associated with covariates from the error term. That is, CVs
(covariates) are used to assess the “noise” where “noise” is undesirable variance in the
dependent variable (DV) (e.g., individual differences) that is estimated by scores on
CVs (e.g., pretests).

An experimental ANCOVA strategy was taken by Baranowski et al. (2011). One
hundred thirty-three 10- to 12-year-old children participated in a randomized control
trial where two-thirds of the sample was assigned to the treatment group and one-third
to the control group. Both groups were assessed for the intake of fruit, vegetables, and
water as well as minutes of moderate to vigorous physical activity and weight (the
DVs) prior to the start of the experiment, after the first treatment, after the second
treatment, and 2 months after the conclusion of the study. Pretreatment measures and
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certain demographic characteristics were used as the covariates in a separate
ANCOVA for each DV. The group assigned to treatment played “Escape from Diab”
(Diab) and then “Nanoswarm: Invasion from Inner Space” (Nano) video games on
children’s diet, physical activity, and adiposity in sequence. The control group played
diet and physical activity knowledge-based games on popular Websites for equivalent
time. Using repeated measures ANCOV As, the children who played the video games
increased fruit and vegetable consumption but did not change water intake, physical
activity, or weight.

The second use of ANCOVA commonly occurs in nonexperimental situations
when subjects cannot be randomly assigned to treatments. ANCOVA is used as a
statistical matching procedure, although interpretation is fraught with difficulty.
ANCOVA is used primarily to adjust group means to what they would be if all
subjects scored identically on the CV(s). Differences between subjects on CVs are
removed so that, presumably, the only differences that remain are related to the effects
of the grouping IV(s). (Differences could also, of course, be due to attributes that have
not been used as CVs.) This second application of ANCOVA is primarily for
descriptive model building: the CV enhances prediction of the DV, but there is no
implication of causality.

Which of the following statements is true, according to the passage?

1) The second use of ANCOVA commonly occurs in experimental situations.

2) Posttests often constitute covariates in an experimental design.

3) Undesirable variance in the independent variable is described as “noise”.

4) In an experimental setting, ANCOVA increases the power of an F test for a main
effect.

Which of the following statements is true about the second paragraph?

1) It reports an experimental study without a delayed posttest.

2) It contradicts what was mentioned in the first paragraph.

3) It provides an example for the argument advanced in the first paragraph.

4) Tt reports an experiment with an equal number of participants between the control
and the treatment groups.

Which of the following statements is true about the findings of the experiment reported

in paragraph 2?

1) The children in the control group increased fruit and vegetable consumption.

2) The children who played the video games increased fruit and vegetable
consumption,

3) The children who played the video games had an increase in water intake, physical
activity, and weight.

4) The children in the treatment group played diet and physical activity knowledge-
based games on popular Websites.

The word “fraught” in paragraph 3 is similar in meaning to ---------- g

1) filled 2) assoclated 3) crowded 4) confronted

Where does the following sentence best fit into the passage?

If the research question to be answered involves causality, ANCOVA is no substitute for

running an experiment.

1) End of paragraph 1 2) End of paragraph 2

3) End of paragraph 3 4) Beginning of paragraph 2
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PASSAGE 3:

The goal of canonical correlation is to analyze the relationships between two sets of
variables. It may be useful to think of one set of variables as independent variables
(IVs) and the other set as dependent variables (DVs), or it may not. In any event,
canonical correlation provides a statistical analysis for research in which each subject
1s measured on two sets of variables and the researcher wants to know if and how the
two sets relate to each other.

Suppose, for instance, a researcher is interested in the relationship between a set of
variables measuring medical compliance (willingness to buy drugs, to make return
office visits, to use drugs, to restrict activity) and a set of demographic characteristics
(educational level, social background, income, medical insurance). Canonical analysis
might reveal that there are two statistically significant ways that the two sets of
variables are related. The first way 1s between income and insurance on the
demographic side and purchase of drugs and willingness to make return office visits
on the medical-compliance side. Together, these results indicate a relationship between
compliance and demography based on the ability to pay for medical services. The
second way is between willingness to use drugs and restrict activity on the compliance
side and social background and educational level on the demographic side, interpreted,
perhaps, as a tendency to accede to authority (or not).

The easiest way to understand canonical correlation i1s to think of multiple
regression. In regression, there are several variables on one side of the equation and a
single variable on the other side. The several variables are combined into a predicted
value to produce, across all subjects, the highest correlation between the predicted
value and the single variable. The combination of variables can be thought of as a
dimension among the many variables that predicts the single variable. In canonical
correlation, the same thing happens except that there are several variables on both
sides of the equation. Sets of variables on each side are combined to produce, for each
side, a predicted value that has the highest correlation with the predicted value on the
other side.

The main goal of the first paragraph is to ---------- 2

1) offer a general description of canonical correlation

2) make a distinction between dependent and independent variables

3) tell the reader how and why two sets of variables may relate to each other

4) argue why each subject in a correlational study needs to be measured on two sets of
variables

Which variables on the medical-compliance side show the ability to pay for medical

services?

1) Purchase of drugs and insurance

2) Income and insurance

3) Purchase of drugs and willingness to make return office visits

4) Willingness to make return office visits and income

The word “accede” in paragraph 2 is similar in meaning to ---------- :

1) adjust 2) object 3) apologize 4) consent
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Which of the following statements is true?

1) In multiple regression, there is one single variable on one side of the equation and
one single variable on the other.

2) In canonical correlation there are several variables on both sides of the equation.

3) In regression there are several variables on both sides of the equation.

4) In canonical correlation, there are several variables on one side of the equation and
a single variable on the other side.

Where does the following sentence best fit into the passage?

The combination of variables on each side can be thought of as a dimension that relates

the variables on one side to the variables on the other.

1) End of paragraph 1 2) End of paragraph 2

3) End of paragraph 3 4) Beginning of paragraph 3

(Jloir! o g b fIU oo ( 15 i 5 Loy pilo (oo (Fg)) (og0s (2L ) by gy

¢l plas () = log X

&b ol -Y)
ch—\/xY —-YX+¥Y

(e,1) O
(L Y) (Y
(o, ) (v
(—o0,Y) (F

fow] p‘..\f e x 385te J? .X=T‘COST’t gy = TSi[lT‘t t:‘.‘a;""ﬁ‘)ﬁ‘; j! J..ab )13.3 3.!_9) el Y'Y
T (N
YfT

A
VYTU (V

41

fATU

0
flewl pluS T =€0SYO udad Jmio (49,08 At b IS colune Y'Y

(Y

Q!

(¥

(v

8 —«]a =«la =13

(Y

forum.konkur.in



www.konkur.in

A amio 532K (Y o5) L

Je> y=t—sint g x=1-cost Gz il Glb < 9 oY jomo 4 jguamo dazli ()fy90 1 Jolo punr pxe> TP
famsl plaS B Y 920
T ()
oI (Y
P (¥
YT (f

o (rx—1)"
el llas o jSon . ) Sy 83l plaS j5 —TD
— v Inn
n=y
(=1,7) O
[-).Y) «
(=vny] @
[-),¥] «f
Yx v
a = _
aflet iy, i\~ TOIN0-X )
n X—o (1—cos¥x)"

a S -y
~iply

axy?
Kafr

X 1o

N

Y,O
N

axTe

¢

¥

(v

(f

rxy(x' -y")

X,¥)# (0,0
T int| Pldf fyx(c”o) Jl..u.o 6f(X,y)= XT+yT ( YJ ( ) »J..».'J

S TV
o (X,)=(o,0)
Y (Y sy
.%L.Li Sg>g (f —Y (¥
B X jamo caste g by 45 aga 35 (V50) ki 10 F(X, ¥) =XT€Y) Al pgs L3 so 1auw B2l Jlakie A
Fam] plas o 3l oo 4z 50 FO asgl)
5 ()
y

Y

(Y

forum.konkur.in



www.konkur.in

% amio 532K (OY¥ o8) ,Lf

lnl..xSA )LA.M wisly I)S.o.hk Lg!fus.o.u@:uoﬁm u-‘)-‘"af ,_gbhu A= II& J.ufuo)s -¥4
(X +y +\)

T
Y
YL (Y
Tt
Ay
— f
Y
S el S 1,8 XY Ao oYU po a5 0l X Yy H(Z-1)T = A 55 g oadly mlaw S uns p8 —Fe
Jode WS ,0F S mhw 31 F(x,y,2z)=y cos(xa)i+x"eW eV oo las
(ol S gelans 2 g 455 136 1059 1) Cead plus’ IICurlF.ﬁdS

S
ATT ()

Yoot (¥
YT (Y
\$T (¥
Mg g0 i 5 5 s yae0ks 4T wikd R 5 ol s Wy 9 W s (o8 —F)
W, ={(a,b,c)|a=b=c}
W, ={(a,b,c)|a+b+c=0}
b Cawl ply dim W, +dim Wy o 50000 50
Y (A
Y
Y r
¥ (F
fcanl sl 80 A€ My (R) o 5lo 12 slile 25 9190 3 Splas’ —FY
(AT =
AT =tr(A)A - (det A)I (v
At o sgbs b 5,5 AT L8 gy, (slany)ys dan (¥

. = L, v
M)MéaL..ALJ_SJJJA ﬁwoylsﬁdham(f

forum.konkur.in



www.konkur.in

Ve amio 532K (OY¥ o8) ,Lf

le.ﬁauu.]_ﬁLn h.....r,.i & d.Js.i W LgL.a':é).g_j BT XY Lsthw_ﬁlo LS)I‘))'.' LgLa'é yo —FY

A=[\ Y r} ’ B=|:Y ¥ v} ,C=[\ Y a}
f o b 1o Y WY AY W
JOM UL RN
Y
Yy
LAY
O (f
Mol izl LY iSTas 4z 0 3l sbglabaais des jl Sioe gyl slad Py[X] wos o8 -FF
Al b s Jpo Ky TPy [x] = Py [x] 31
T(a, +a,x+ aTxY) =(¥a,)+(fa, +0a,)x+(fa, — \“a‘.:)zu:T
Sl oo T 359 2 0lio i o Juol> il
o ¢
o (¥
Fo (¥
Yy (f

cypods ) T:RY ORY s Jas 5 adl gpiol cob by a=@,b,0)e R’ aus o5 2
Sa g T ojg slade SO (Cawl V g O slaslo 25l G s OUXV L] 50) @S o0 s yai T(V) =XV
b iyl o i Bl o3ug oy

\ \
v={(fa,——bh,—¢c) , (\
Y Y

V=0, — (F

-t |- -t |-

\ 3
v=(fa,—b,——c) 4 o (¥
Y ¥

\
V=—0L 4 o (f
\

[==] n '
x n!
el plas 4X X >0, E
n=\

< co :ch.n.ﬂ_to -¥5

(]«
(c,e) v
(.¢] v
(o, o) (F

n
n

forum.konkur.in



www.konkur.in

1Y oo 532K (OY¥ o8) ,Lf

x€ (o,1) philarsf (o) =0 ogdloa ait piygaie (0,1) psasmgn [0,9] 2 oo i sl ass 28 -FY
, ‘.
Tl w30 iy 35 0luS & yguo ol 53 .0 SF7(X) < ;t(x)

) X
s o ol 2 Legl £ Jg T(X) €7 6 lgem (Y

{X:f{X)>l} dcgome N cab due @ gl g ol aiwgy Fi(o,0) 3 (0,00) &bl us o8 -FA
n

O] Gy s 3 plas .all ladl s

Ald 29290 IIM F(X) ¢ M f(X) v g0 ;2 (
x—eT X0

Sl ogmge M F(X) conl Soe Lol sl 59290 Tim £(X) (¥
R=pen x—et

2l 9gzge M £(X) cenl (Soe Lol ol 35250 1im T(x) (¥
ol X—yoo

Sils sgmge M F(X) 5 Iim (X)) o= g0 jl S cunl Sow (F
X—poo e

£ 5,
ol picaols LT IR 2R abioss o9 -F4
.‘f(t)»—g(t)‘<€‘te R ;2 gl p a5 5y9bas dy00 3905 8 uiile R s aisgus s lgasy i E>0 b gljlas
§ ] e 30 dls 35 ol
Al dlugy (gladai a0 el Sas T (Y
o 4 g S lgsSS T (Y
onsi atasgey R Ll g 5yl Sriges abaii _sliels slaws T (¥
o xBe BB By s cool agy T (F
ool iy 3 plas E={xe [0, 0] :F(x) =X} 5ol ol pud gy b F2fo, V] 5[0, ] ass 55 o
- YO
E+Q (
o] B BAY
il et Lol il liiiab B 311
ol 036 SO E o8] fof =f 1 (f

........... Lol plod 51 g Cawl e 181 wlidio b grodld  SosS1y o pFojluil gl ool jlao wilsylg -0
JEYCIRY S P oyl il g ol oy T wscisls
Sl 555 - alolbpa - s 5 (Y Ao - plp- gladalt O

00938 Lodld cpl s Vo nSilo b wos gous 3010 & 51 .ol oud 1V U ply goue dols Yo (Sl —AF
famw! yudizr oo pleal 8ol YO Sl Hludio caiguh
VY2 (f Yy0 (v (RTASNQ1 Y Qo

forum.konkur.in



www.konkur.in

VY asmio 532K (Y u8) ,Lf

bl LBl =1,y gl )51 B = Ul Bj 9wl 130 Llgi By 5oy By glavoling uis (5,8 oY
Tl plas P(AlB) ajp)awq_}falfoT;P(A|Bj)=p 9P(Bj)>0

P(A|B)=p «v P(A|B>=§ 0

P(A|B)=min(y,np) (f P(A|B)>p (v
:Q)}oo.]_‘)oACBCC 3MM%MC,B,AMQQ)3 -OF

P(C)=o L P(A)=\ (¥ P(C)=),P(A)=¢c

P(C)=1,P(A)=) (f P(C)=\ L P(A)=> ¢

o 3 gl 0gut oo ol olal ay o po ST el oy ;S i g S0 o] hual 4 A PN Jold aeS Sy -00
Obess Comusisr ol o, @ M S 008 0 Glail o5 g (glaned SCLS gl 1, ,a0 M ouilo L 445 n—\
Sl judior will o5 Sod ATl Jlosa! asils asils

2(Fg)) (bl 5 SloT o(Fa)) Jloinl) | prasii g0

¢l 185 ol pkito o9l il sl oy EIXT =¥ ol ool g S={Y, Y} olauki b dolai juio 3 X 81 —08
b (\
& (Y
A ¥
Yo (f

! p‘de ‘saaLgJ ool Sl ) u)g.od..’x ‘_;JL:U poe ‘5“51.3 é.gU -bY

Y
5 s <x<
£(x) = cxX Y_X_Y‘
0 el s 5o

(

—t | -6
> | &

¥

(¥

& 6|t < |-t

-

(f

-
o

forum.konkur.in



www.konkur.in

VW asmio 532K (Y u8) ,Lf

tean! plas EE@PX)) nitl o luibiul Jlo g 2355 2 D) 3 X~ N(0,1) s 3

o ()

Sl plaS Y Jloio! I8 26 .Y = % dadd 58 .l [, 1] 03U 59, s 2a 598 olylo X uis o 48

& ¥
—_— \ ——r
. —y 7 > . -y T =)
f=4<y" 75« fy)=4y Y=
o y <\ o y <\
. Jy_T y =) ; Yy y 2\
t(y)= ‘ (f t(y)= \ 4
o y < a y<

¢l plas P(X =1) jlaio JE(X) = (F— YD) ol aiiils X _dolai yuiio g1y 51

4|t t|—- 5| 2|~
— o~ —
= = ~

—
—%

o2l 60,2 ST cawl Jlo Yo 580l b g (@l 39 b (Bl (gpmiito QUG SU joe Jab ol (0,8
Sl judiar oS I 3 500 Jle 8 ol Qlicd asGol Jlsiol uily ooy 5 (gl JLu ¥ 1y QUG
eV
¥
e (r
e % (¢
bl 5 Jlois! S8 &b 1o X diwgay (Bolad jukio ailS (0,8
¥

X o< X <
f(x)= y
— 1€x<Y
Tl
§lowl )A.ﬁ.‘g; P{\;\;QX > X} Jldﬁ..o
Y Y \ \
— (¥ — (Y — (¥ — ()
¥ Y Y ¥

forum.konkur.in

—-OA

-84

-5

Al



www.konkur.in

| 532K (Y u8) ,Lf

Hlode il X dtwgw Solai miio 2u398 &b F(X) ass o8 -5V

EF(X)
J Var(F(X))

el plus’
Jr oo

v
F ¢
J¥ o

Y

\
i

] ,aLLTa ﬂ..\.ﬁ.o 3 Gl@.g &L e

f(x,y)=ax‘" ; 0<X<Y <)

QO

& (¥

Yo (¥

Yo (f

sio Y g (0,%0) 85b (595 wdlensy aish @l X a5 aldily Jhiummo (Bolai putio 99 Y 9 X s (p )
ol juiz P(Y < X) jladio .l Vo oKl b oled 29598

I—e (O
e (¥
e (v

)
— ¥
Y

A4S (B kil Jin (SS0liad priia 30 Y 5 X i 53

Xs X>o0, fY(Y)=lYe_le sy Y=o

fy (x) =Ae ™
st plas P(X<Y)

(¥

(v

Lo

forum.konkur.in

—$¥

-5

5%



www.konkur.in

1D domio 532K (Y u8) ,Lf

il 5 plgi Joio! JIa b b Bolad glopiie Y 9 X ais (o8 —FV

e~ (X+Y)

o bl ple

X>0,¥y>0

fX,Y(XaY)={
Sl oS Z=X+Y g U=X-Y ply Jloiol &> aols

f(u,z)=%e_Z , Jul>z @

fwz)=e > , z>—-u (¥

f(u,z)=e” , —z<u<z ¢

f('u,z)=%e_Z , —zZ<u<z (f

ATl S (Sleo b gnlys F oo 20598 L 20395 o0 9 (Bobad gl puiis 51 (glallio { X } wis' (58 —FA

Z“ o P
Y, =—"=——n
Vn
Saw! plaS Y o595 olST il 1,K00 Y Bolai juicio 45 29395 30 1Y} Ulio 4
S 5Sila b il (¥ > fastal Jloyi O
\
(V) esles, ¢ ARy

fasiomd Ciwnsdls X—Y g X4Y 3 lulpd 5l Soplas cod il dolar jtio 90 Y s X uwis o8 -£4
il ateeal Y 5 X ()
Var(X) = Var(Y) (v
Dol atwgn a8 sl Y 5 X (Y
il )l Yo X olas slouins 1Sy o a8 (F
fnsl plas E(XN) o [N| X ~Pois(¥) g X ~U(o,1) uuis o8 Vo
—v

Y—e¢ ()

eY—\

Y
-y

(¥

\—e

A
e’ -\ (f

(0,1) 33 (59 cutlgnss oyl 23395 b @2305 0 9 Jhiumno Aol slo o We g Wy W) w5 (8 -
Sl Jodz P(| Y2 Y) 6l YU 01,5 6 ol&T. Y = Wy =YW, + YW, 8100l

q

(v

4 Y
> v
— (f — (v
YY vY

forum.konkur.in



www.konkur.in

V$ asmiio 532K (Y u8) ,Lf

Jo—ol a5 Ly i 3l —Sel i 4 Sgwi S Xy, Xy, X oSS p 8 VY

Tl plos’ 0 yalyls oyl 0)97).3 v fe(X)= =30, x=o , BOe (_o,l)
L 0 s, X=-),+) Y
‘ n .
— > X 2o ()
m; s
‘1 ‘I = \ il
—(=> X)) (f — ) X, (¥
\'(ng ) Yné '

.9r=a9\+(\—a)97 p—a—as du).su g R 0': [ U‘T dLhu».iLlﬂgL_v 0 u_ﬁj_)".i )f‘b)sTJ._t 8 é‘u [ é‘ )fl -Yy
fuily wgly iz @ ladie (Cov (B,B¢) =C#o0 o3 By (ilsyly (30,5 diaS sl

G —cC A
— ) — ()
o, +G,—YC %

o —C o,

5 T (f Y Y
O, +6, —YC o +0,

Sl K T=a Y [X;=X| o)l a jis a2 olil & X, Xy, Xy id N(,6") s 5 ¥

O RN
\
vn(n—y)

\ Pt
V(‘_;)n & \ yn(n—Y) ¢

3590 plaS B (glp Jlowion suiuwn okl (p3 Jloss! I8 zli 51 (X) S e 4 Sobad gldiged wlulyp —VD

\
n

¢!
X
JEERE x| o
f(x) ﬂ‘ 0 ‘ -9 (-1<B8<) X ¢
' ' e (f

Y

§ il 3 0590 plas . Ty =‘X|3 T,=X X ~N(c,0) w5 o5 -V¢
ol Lol g ot Ty g Jol5 jué g ooz T, (A
Siwd oS 5 ooi 93 2 Ty 3T (Y
et JolS pf 5 oty 93 2T s T (¥
sl JolS o8 g onian Ty 5 Lol 5 iy T (F
e 2B Ly o afa ) Ol o (Ko s Wi Y Ky W ) S B WY

-
—Ox—=—
Sl plus picd oMbl sl il fg(x,¥)=¢  x,y>0,0>0
¥n . n 0
o Yo'
Yn " n Ry
0’ vo"

forum.konkur.in



www.konkur.in

W amio 532E (¥ u8) Lol

G Py VA

Zy... .2, iidN(u+py,Y)

Tl plas Py g Iy (sle ol by ML (85597 o ool o (588 digad 4w 1

o XtZ-¥ o V42X
A v LN i} v
f,=YR+Z-F, 4, =YT+Z-X «
. YR4Z-Y . YW+Z-X
= s @

A =X+Z, 0, =Y+Z (¥
!y UMVUE o5 3 jlade il B(Y,p) slalezrss au5e5 51 odobas aises U X, Xy, Xy wus o8 -Y4

P Py P
= = =

|- 6|t —t|-t t|—
o~
_-ﬁ

9 B o 5o aF widily va | it obai gl o i =V, 0, , X ~ N(OU+BE; ,G7) as 5,8 —A

Sl 1S (01,B) yialyy UMVUE siis D ;=0 b pyles psotio ot 5 pslacts sla yiol s G

i=

{zn:tlxi itf aixf} v [X, Zn:tiXi zn:tf] (\
i= i i=) .= i=)

i n
1=4 =) = v
n * n \ {X’ZtiXiJ &
\ i=

forum.konkur.in



www.konkur.in

VA asmio 532K (Y u8) ,Lf

Sladio ileglzol 67 g [ o o a5 wily N(u,c") 238 3 olai glaged X, ... X oS B8 —A)

{ 1=\ 3\
. Z(XH‘—Xi)"
S"=nL_‘iz=\:(Xi—>‘c)‘ Sl phas E| =) &
\ J
Y(n—Y) (v n Qo
(n—1Y) (f Yn (v

solie 51wl Fg(x)=e 3™ x50 I8 sl b sy 5 Solar laiseiXy, . Xy, wiS 55 —AY
Jhﬁn_@ wduials ol cudliie X(\) =Y jlude 504 H‘19=YJ,J& Jlio jo HD:B=Y Sy i X(‘) j)}?

Sanel plaS
y—e " (Y &
Feo” ¢ ?

Bl 50 H 102 5, 4ol ,51.U(0,0) JE> ali b 2jei ) oN=Y  dola diged 5 bl —AY
3 i oge3l o3l g B=0,¥0 (lil & pao g9 lbs Jloisl il Xi) <o0/0 @ygea Hy 0 <)

Flaw! plas o 4 Canly

Y X \
_9_ (Y C"_ (\
|} ¥
) Yo
o (f RN (Y‘
¥ £ %
wibUle,0y) 51 Y, Y Bolai diges j1 Jaiwo U, 0y) 31 Bolai digad Q}X‘,...,Xn A oy —AF

H,:0,=0, s o3l sl ) (2ot y0 Cod  X(y=max X, Y= max Yy tawes 34
. i : i

n Y
Xy Y(nj ¥ Xy Y(n) "
(lTlaX {X(“) ) Y(ll) })Y (mln {X(l’l) s Y(Il) })
n n
X ) Y(n) " X Yn) .
(min{X(n),Y(n )}) (max{x(n),vfn)})

M olwb! 36 Y, =MIn(X), Xy) 5 46,8 GUN=T ol aigei S (0,60) bl auieh 5| A
§ ! ,a!..\fa..\,gTGn Cawd P(EIBSY‘ SB)=°;A‘ akuly 3l as 0 &l ey

(O;"Y\:Y‘,) (¥ (“,‘I;‘]Y\) (\
\

(Y\e:Y\) (¥ (Y\e“’Y\) s
/

forum.konkur.in



www.konkur.in

14 asxio 532K (OY¥ o8) ,Lf

o o il N(O,Y) 20588 L X Bolai o 3l o N=Y Solai diges SU X, Xy, Xy as o8 -AF

Scul juiz O ol (min(X, , Xy, Xy), max (X, , Xy, Xy)) 534 olnebl
@

(¥

|- 8|~

iid
plus (g ,gliiiS 5,91 v .odiud palacli gl yiolyl 30 2 P gm a5 X ,... X, ~Bin(m,p) uis o,

n n
s | v 1 " o
(X_HZXI , S _n;(xl X)') teon
1= 1=

X X
X _s' " X 48
)_(Y XT
= ——
X=S X+S

-AY

[ g5y 3 (T9l) g pStigad) I uaradti' g 0

sl Gyl (g S aigod (s g, b bLI )1 50 525 9)50 plaS —AA

ol lal> 1090 (ladygs (g S dige I (pols Sl (gladils (g S digei ()
LN R O VTSR TN

el glal> yagd gladgs (5 S digei I (ool Ll (glal> oSy (sladys (6T aiges (¥
sl 03151 b e e e gl el Sl ool ol g3aT dges (F

?QB.JJG.&: o a0 d.:‘uw t_g).;dég.o.i t_gl.bab.l! £33 ojl}o )1 d.g_.,n‘df -Ag

o5 50 52 il 955150 OISl poe ()
dnalz gy 4 12)53,51 5 LS oy (¥
call ol b o pfitenddl sl F
3518 (Kt £970 alais LGl ada 591 cds (F
solie (pl hail SO aib ol il lg 9 Jsl dib poa Caslonds ST bl 90 IN poo a4 (glazols
Tl Al nlice (pasd (ol s (3T 51N pono @y (gladges asoler (ol (pufileo 351 1 (gl sl pgo allo 3o
Fogisco il iy J50,91 y2 (uily g 00,8 i digai pxer 513 lo0 god
Ar ¥ Jslaid bl O
N-n
7% N=vn
e
YN —n
N-n

(¥

Ay (¥

forum.konkur.in



www.konkur.in

Y+ amio 532K (OY¥ o8) ,Lf

00,5 bl Bolai & 1) Hlgls Hlen woiS o0 Fui) el 1P B 40 i FO gSume poizmo Sy yd -4

5 ooliul b iaales,s pamkidue pj Jauar gy 4 abdS olo )0 1) T (i Dpae oliee 9 Coxex

P ez 1y Slgils 5a 50 (e B pas (iS5l g gedme opl (2 e Al O pae (ud g3 5040
TS o0 0590 p yudis

Curoz [ r s v o

:—Jmfuu-u@raﬂ‘ Yo Ao Bo Fo
$0 4 Yo ()
Fo g N0 (Y
YO 4 Yo (¥
YO 410 (F
oo 10 T &l juo & puao Lawgiin 9,51 9 (6ly WiiS 0 SN) I FO Lo b Hleils 15 JaSmn guize Sy 0 -4Y
3T ply Jeils 50 T dildle G o ool 9iiS o )locis bl g wloesil oobe S3lai jebas 1) Hlails ¥ sluss
TS (o0 939 iy 1) 5950 yialyly emslouds cund CanSia o YO
i ga A
o ma ) O (Y
xS e YV, O (Y
(3, (Ko oin gl lails o8 slass ay) Ceans aulze LB (F
b Towe 5l e 89 (S Ceio) X g (ol b)) ¥ o 90 b gldmols jl eolu Bolai (5 uSaiges jo -4
Tl 5158 51 0 l50 4y 55 plus axalzr ;0 ol cbo sl yislyly 0591 32 (5l bl SHX Y g5
W Sy S35 s g o pabals 510,85 461 5 ()
A 380 e 60,5951 5l (Fgens Sy sl T 015 (¥
Dt 55280 Jgore wu,lb ola Fo 51 51 s gla )T 461, (F
e 558 Fer )T, ST sl il (dsera o U sl S50 (F
F g ol il 485 A Alflas jabas g Bolal 4 .oiciwd (4 dnds 9 00 LT JaiA0 a5 3510 uio,ls 1Yo gloylal —A¥
o ya oy pj g s 1 LT JAST i yluij 8 Slual g 00,8 Gl 1) oy 51 i
'R O I BCLET 8
R ‘ 3
Ogebeo 0,0 S p (55))) 4 0l dd sl oylol ol (USH JAST i (ylud 8 oled gl pedlatu ST
TS 50 381 3 logd (ygaba iz I jsbiioc! (g1 p3Y 409 ol (ylogd
Yo ()
VFo (v
Yfo (Y
YAo (¥

forum.konkur.in



www.konkur.in

Y\ axio 532K (OY¥ o8) ,Lf

J.g_ 51 a)bi L'J'?-l U_J.{L‘i.n it QJBT)'? ‘51)._’ o J.:L.fu JLn.u Yo d.ﬁJLw u.ajdl.n.n L_v ..Li.n)lf Yo éln)b! 3o

JLo 10 g Yo il b Jalio ,a5 ¥ o131 oyl 51,8 el oo o0liiwl o 31 ddislus b cawlicio 9 ¥ o 41 Aiges
31 Gl @ ylae pudalio Cond 3,51 2 il euds sunlive

Y Y
— ¥ =
% Y
\ D
— (f —
q q

ol 58 3o LS )1 G 3591 1 (gl diciund () SS00 oo g S0 LT 51 coud A5 3510 w5 AT glolo
pepladn Sl .Cewl doyd Fol jhw pom oy ;30 g aueyd Poli Foo rpu U5 )0 Cand ol puild o o)l
az il oo yd B 0391 5 (gllas (1,5 45 S 350 (5 )ab ewbisie amand 51 solaiul b 1) 5 3 )50 Caud
(Zo ayy =¥) Sl 3L 0550 aabs 1o 3 sl 505 poxe
o (¥ o ()
fa (f A
& SISl a0l (B0l (5 peFeigai S N0 oo as slanolr 55 (o5 31g oS Car 3591 2 512
ds digod olasi Az b al oo solisiw! (5 1085l b solw Bolai yig; 3l 51 .Cawl sud coliiwl M=Yo0 pzo
Tl oo S Jsl 5k 2B ploa
Y¥ O
Yo (Y
YV (¥
Yo (f
o LRI e 1 5 Sl (g el (Bolad diged SU N s 4 (glanols 1 pablys o0 9S54
Fowwl plus 7 slaolil 3o pK paic Gl Jlus! .Caul ) gouen o

n-+\

N +1
n+\
Y(N+1Y)

n

== 7y
N

q

— (¥
YN

Lddigs (b mfilen (o (il sy cuai Loddips (il uSileo ST M L ojluilen (slaadias b glanel 5o
b Cen! ).11‘,4 614.&95 M (g ol&sT el

YM -\ !

(¥ — (
M —) Y(M—-Y)
IM—) \
T (f «
M —) M —)

forum.konkur.in

YN

=y

Ay

-4A

-39



www.konkur.in

YY amio 532K (OY¥ o8) ,Lf

o> .J;&.& \_<J 39 ufl.w Jlg.ilé doeo J-ul.u: sld..uﬂq j! ‘E_v‘u Yoo aalw é.bl.a:u ‘5)._.:433.& J.’ P

Wl 0097 25 Ty A2 Aigei glo,lgils
Cumex | VY ¥ F

<ol 1 fo 1 Ffo Y&
leis b (l 4y iz 934000 3 )9y oS ko goguatie (el 4 1) 0,85 90 9 Sy (gl lgils puply ST
S idles- Jiie
WO (A
Yoo (¥
Yoo (v
Yvo (f
0,105 03 il &y 35 oIS 53 () Aiunntly yukiin (g S0 31l arlg 5 sk
lase 510258 95512 (V e ey ()
g5 ) el 3 lailid Szl 551 (F Sy b3 gl oy 551 (¥
S )3 eylgen asiE slas Py #Fo g i=1,,n a5 y; =P +PiXHE Sole bt fayS) Joe o
]

n

Zeiyi =< Q

1=\

n n
Z Yi =Z ¥i &
I;‘l I;\,
DH=Dy
1=\ =y

2,385 (X, Tn) 5l cgawsSy b3 Conl S By 0l 51 (50 il 0 (F

ol oy di 35 ploS Wil (ygum )55 5o

D =TI G =P e Gl o g S e 45 550 0

DOi=D D (Fi= 9 e (s Joigine GemT alaly 455900 (¥

aly e 31 (858 (LIS fpany®y 551 Z (y; _y)r ZZ (¥; _§)Y o)l ga (¥

il Tae 1 s s gmsSs 51 D (Wi =YY D (F; = )7 o jlgen (F

Jaw o Xp=xXi-Xy  Jw boi=hean Fi=Bo+ByXi e Sl s, Jue

=7 . oa - s T 2 2 E *
ol51 sd..a..ng CL‘ 9 O, pao "le &_MGL@;Q)QJ.} ﬂ,‘ q O, )ﬂ.m\ha@u«:)‘ﬁ‘) ¥i =0(.0+0t.‘ Xj +8i
Cov(@Q,,0. ) =0 (¥ &, =0 ()

Cov(6,.6.)=Cov(B,.B.) (f & =h.-x, o

forum.konkur.in

_\00

=3

_10Y

_\OY

-)-¥



www.konkur.in

YY axio 532K (OY¥ o8) ,Lf

S oS g0 sablie 1) ¥ S b 4 (3T Calal (sloj 9 e so by X glai ) 3115 (98 csbulojl S o
Slaeliv owl glp Soplas wi g Joe e 3l conl u‘;.}LoJT ool 589, a g J.w‘:» ‘_,Z.'nﬂ).; sloged ol

y A

. y; =Bx; +g O
L
- yi =B, +B x; +& «
[ ]
- Yi=Bo+B\‘I'IXi+8i x
®
yi =B4Jx; +& (f
®
®
] e X

o
b gy oo 31 ¥ 89 olg o yieS 3,90y yolie g Wisaile cud yiay a8 ¥y bl po €5 STy 1o
e A 1 ygu0 ol 30 el ol & yquods siswd ¥ = B, 4By X; + € solu

st i 115 € 1ogs abanl 5,8 ()

o I 5 By il g S )5 (Y

el Y35 08y iy el (300 o 2,3 Y

ol Jlgos 25 E[Y [ X=X] 0 8o, 030 (s 253 (F

hj #) ool i=Vun ;2 Gl oy =B, 4By Xjy + o+ BreXjp + 8 8wy (b (3 ,F) Jio S5 2
J..Ln [ 019‘? UJ)-n.DS )fo”i).; j=D,...,k sBJ ;l cowl H JLLb)LT uu.:JJLn ‘A‘al )Jaﬁ 1Y) la!i s hii 4
Slaw! puoli 0,108 w3 0,10 315G plus oK1 adanls

n

in% (¥ B.

i=
o Joo saile & o5 E[g—¢;] «f Var(y;)—Var(y;) «
83103l &t glaigod wlualpt (SSReg) (i ptio (g3l0ad (69, Y g 55 31 Jolo (sloonilo pgs (4lsd & porno
S,lg b puiite ddly yguaz 50 |y Xy (U (5,10 Fmo gl 50 Dygee (wl 5o el lie Jguar £ ph 4 D=0V

f«
083 qpaw s 50 ¥i =P, +ZBinj TE& Jaod g padS o0 Jo

Joo 33 Jhiuo yaiio | SSReg i=
(Xy5 Xy 5 Xy, Xy ) £y Fay ey <Y O
(%pXpsXp) | FAD et
ol el A B_a v 6 :: 4
(%), Xy, X¢) &Y ' £q
(Xy,Xy,Xg) Y¥ e < Y -

forum.konkur.in

V-5

R

-\

-1+A



www.konkur.in

V¥ amio 532K (OY¥ o8) ,Lf

30 ole oy ymeS gy 4 ool yuilp b F =P, +BX (Y =B, +BX+E ool b yeawySy Juo 0 -144

)
Tl pIUS Coasti L g Ol I'),.j; = ; S Gl Uas

\ )

— (Y — (

£ 1%
\ \ )
—<R<—(f — (v
v f Y

essoSs iy, OB TV Bessless (R 0) sl s g T) oo oMY B8, ot
Joe as Xy X ol 30 a5 (X4 ¥) ©)geds osds 0310 51 .0 co (b3l Toue 31 558 b ool s
gl Juo 4 Gl oud (031 las s olSST oo (55l 1) e Joko 3 ouds 00931

A dalgd LS5 o)laen (V 5,5 ol 8,8 ()

b amlgd 285 Xy X a8 im0 (F 0 ah alys 2SS X4 > X a8 50,0 Lazd (¥

forum.konkur.in

=\



